YARNSMITHS

-, -

- = =
‘x‘. &',,; 2
) i

-




Drizzle C2C Blanket
Materials and

Measurements
Size (Approx)
95 x 122 cm
37.5x48 ins
Yarnsmiths Freespirit Aran
8 | Balls

8mm (US I I) Crochet Hook

Photographed using Shade:
D008 Malachite

Please note that the limitations of
the printing process mean the
actual colour will not always
precisely match the colours in the
photograph.

IMPORTANT

Use only the Yarnsmiths yarn
specified. We cannot accept
responsibility for an imperfect
garment if any other brand is
used. It is essential to work to the
tension stated. The quantities of
yarn stated are based on average
requirements and are therefore
approximate.

ABBREVIATIONS (UK)

Ch - Chain; Sl st - Slip Stitch;

Sp - Space; St(s) - Stitch(es); Tr -
Treble.

BLANKET

Increasing

Row | - Ch5, Itr in 3rd ch from
hook, (This creates a sp to crochet
into on the next row) Itr in the
next 2 ch sts.

This is called a shell.

Row 2 - Ch 5, Itr in 3rd ch from
hook, Itr in the next 2 ch sts.
Now flip your work so that you
can now work in the space on the
previous row from the 2 skipped
ch sts.

SI st into the sp created by the 2

skipped ch sts in the first shell, ch
2, 3tr into the same sp.

Row 3 - Ch 5, Itr in 3rd ch from
hook, Itr in the next 2 ch sts, flip
work, *S| st into the sp created

by the 2 skipped ch sts in the first
shell, ch 2, 3tr into the same sp
Repeat from * to the end of row.
Rows 4 - 48 - Repeat Row 3

with increases being made at both
ends. Stop when you have 48 shell
groups which should coincide with
Row 48.

Sides

Note: You will now be decreasing and
increasing at the same time. One side
will start to decrease and the other
will continue to increase.

On the decrease row, your last st
should be a sl st into the beginning st
from the previous row. This way your
edge will be flat and not jagged.

Row 49 - Chl, turn, sl st into each
of the next 3tr sts, *s| st around
the ch2, ch2, 3tr into same sp.
Repeat from * to the end of row
ending with a sl st into the first st
from the previous row.

Row 50 - Repeat row 3.

Rows 51 - 60 - All odd rows work
as Row 49.

All even rows work as Row 50.

Decreasing

Row 61 to end - Chl, turn, sl st
into each of the next 3tr sts, *s| st
around the ch2, ch2, 3dc into same
sp. Repeat from * to end of row
ending with a sl st into the first st
from the previous row.

Once you have | shell left fasten
off and weave in any ends.

Email: sales@yarnsmiths.co.uk
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